Report to identify problems at The Lodge bistro chain using concepts from session 2, the external environment (B120, Book 1) with recommendations.
Problems
Growing competition
Recession
Core customers tending to be older and lower spending
Dated concept
Peoples taste changing
The STEEP model (B120, Book 1) uses five main factors which affect business from the external environment. These are Sociological, technological, economic, environmental, and political. Using these factors we can see from the case study that when The Lodge opened in 1989, customers found it lively and distinctive and had a niche market. As social tastes have changed, younger generations see the concept as dated and go elsewhere. The core consumers tend to be older and lower spending. Economically, growing competition from other restaurants and large chains means less market share and with

a growing recession, people are choosing more carefully where they spend their money. This could mean less revenue for the business over the whole chain. This could lead to job losses and maybe even store closures.
SWOT Analysis
Using information from the case study and applying it to a SWOT analysis chart, we can look at the strengths and weaknesses from within the business and opportunities and threats from the external environment. This will help us 
STRENGTHS | Established business,Loyal core customers, |
WEAKNESSES | Dated concept,Only attracting older customers who spend less. |
OPPORTUNITIES | Image overhaul,Make appealing for a wider range of consumers, cheaper range of snacks, healthy choices |
THREATS | Other cafes/ restaurants especially with similar concepts,Losing core customers if implementing changes,Recession, people spending less |
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